
A

B

WITH THE HELP OF ANOTHER PERSON, PLACE THE TABLETOP ON A CLEAN,
 FLAT SURFACE WITH THE SIDE FEATURING HOLES FACING UPWARD.

STEP 4: FINAL POSITIONING

STEP 5: LEVELING

DETALLE A
ESCALA 1 : 5

ALLOY BUTTON SOCKET CAP
 SCREW 5/16 X 1-1/2"

LOCK WASHER 5/16

FLAT WASHER 5/16

DETALLE B
ESCALA 1 : 3

INSERT THE 5/16” X 1½” SCREWS THROUGH THE 
FLAT AND LOCK WASHERS, THEN INTO THE 

ALIGNED HOLES. TIGHTEN USING THE 
SUPPLIED 3/16” HEX KEY.

STEP 1: INITIAL PREPARATION

STEP 2: POSITION THE BASE
ALIGN THE BASE WITH THE HOLES

ON THE TABLETOP. MAKE SURE ALL HOLES LINE
 UP PROPERLY FOR SCREW INSTALLATION.

STEP 3: FASTEN THE BASE

WITH THE HELP OF ANOTHER PERSON, 
CAREFULLY TURN THE TABLE TO 

ITS UPRIGHT POSITION AND PLACE 
IT IN THE DESIRED LOCATION.

THE IMAGES ARE FOR REFERENCE ONLY.

THE TABLE INCLUDES LEVELERS. ONCE POSITIONED,
ADJUST THE LEVELERS UNTIL THE TABLE IS STABLE

 AND EVEN ON THE SURFACE.

DESCRIPTION #
ALLOY BUTTON SOCKET CAP SCREW 5/16 X 1-1/2" 4

FLAT WASHER 5/16 4

LOCK WASHER 5/16 4

HEX KEY 3/16 1
I-RNDTP-E004

ASSEMBLY
INSTRUCTIONS


	Hoja1
	Vista de dibujo1
	Vista de detalle A (1 : 5)
	Vista de detalle B (1 : 3)


